\Which statement is true? Women's unpaid contributions to

health care equate to...?

just over 2%
per cent of
global GDP or
the equivalent

of US$1.488
trillion

i Mentimeter



\Which statement is true? \Women also make up WHICH SE—
percentage of the paid global health-care workforce?

11

1

65% 70% 1o% none of
the above




\Which statement is true? In 2021 compared to 2019, how —
many fewer women will be in employment (while men's

employment to recover to 2019 levels)?

9

13 million
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\Which statement is true? Acting now to improve
gender equity could add...

.1

none of
the above




